Int. J. Nonlinear Anal. Appl. 12 (2021) No. 2, 825-842

ISSN: 2008-6822 (electronic)

http://dx.doi.org/10.22075/ijnaa.2021.22634.2393



# Shrinking approximation method for solution of split monotone variational inclusion and fixed point problems in Banach spaces

F. Akutsaha, O.K. Naraina, H. A. Abassab, A. A. Mebawonduab

<sup>a</sup> School of Mathematics, Statistics and Computer Science, University of KwaZulu-Natal, Durban, South Africa <sup>b</sup>DSI-NRF Center of Excellence in Mathematical and Statistical Sciences (CoE-MaSS)

(Communicated by Madjid Eshaghi Gordji)

## Abstract

In this paper, we investigate a shrinking algorithm for finding a solution of split monotone variational inclusion problem which is also a common fixed point problem of relatively nonexpansive mapping in uniformly convex real Banach spaces which are also uniformly smooth. The iterative algorithm employed in this paper is design in such a way that it does not require prior knowledge of operator norm. We prove a strong convergence result for approximating the solutions of the aforementioned problems and give applications of our main result to split convex minimization problem. The result present in this paper extends and complements many related results in literature.

*Keywords:* Maximal monotone operators; relatively nonexpansive mapping; shrinking iterative scheme; split feasibility problem; fixed point problem.

2010 MSC: 47H06, 47H09, 47J05, 47J25

#### 1. Introduction

The monotone inclusion problem is to find an element  $x \in H$  such that  $0 \in B(x)$ , where  $B : H \to 2^H$  is a multi-valued operator and H is a real Hilbert space. This problem is very important in many areas such as convex optimization and monotone variational inequalities. It is worth mentioning that every monotone operator on Hilbert spaces can be regularized into single-valued, nonexpansive, Lipschitz continuous monotone operator by means of Yosida approximation notion. The inclusion

Email addresses: 216040405@stu.ukzn.ac.za, akutsah@gmail.com (F. Akutsah), naraino@ukzn.ac.za (O.K. Narain), hammedabass548@gmail.com (H. A. Abass), dele@aims.ac.za (A. A. Mebawondu)

Received: February 2021 Accepted: April 2021

<sup>\*</sup>F. Akutsah

problem can also be defined in terms of sum of two monotone operators M and B, where one of these operators is  $\alpha$ -inverse strongly monotone which is  $\frac{1}{\alpha}$ -Lipschitz continuous.

Let E be a real Banach space with ||.||, with dual space  $E^*$  and  $\langle f, x \rangle$  the value of  $f \in E^*$  at  $x \in E$ . Let  $B: E \to 2^{E^*}$  be a maximal monotone operator and  $f: E \to E^*$  be an  $\alpha$ -inverse strongly monotone operator. The Monotone Variational Inclusion Problem (MVIP) is find  $x \in E$  such that

$$0 \in (B+f)x. \tag{1.1}$$

We denote by  $(M+B)^{-1}(0)$  the solution set of (1.1).

Based on a series of studies in the past years, the splitting method has been known to be a popular method for solving (1.1). The splitting methods for linear equations was introduced by Peaceman and Rashford [34]. Extensions to nonlinear equations in Hilbert spaces were carried out by Lions and Mercier [24]. Since then, many authors have considered approximating solutions of variational inclusion (1.1) using this method, (see [2, 3, 14, 41] and the references contained in).

Recently, Zhang and Jiang [52] proved the following strong convergence theorem for approximating solutions for a common zero point of the sum of two monotone operators which is also a fixed point of a family of countable quasi-nonexpansive mapping in the framework of Hilbert spaces as follows:

**Theorem 1.1.** Let C be a nonempty, closed and convex subset of a real Hilbert space H,  $A : C \to H$  be an  $\alpha$ -inverse strongly monotone operator and B be a maximal monotone operator on H such that Dom(B) is included in C. Let  $\{S_n\} : C \to C$  be a family of countable quasi-nonexpansive mappings which are uniformly closed. Assume that  $\Gamma := F(S_n) \cap (A+B)^{-1}(0) \neq \emptyset$ . Let  $\{r_n\}$  be a positive real number sequence and  $\{\alpha_n\}$  be a real number sequence in [0,1). Let  $\{x_n\}$  be a sequence of C generated by

$$\begin{cases} x_1 \in C_1 = C, chosen \ arbitrarily; \\ z_n = J_{r_n}(x_n - r_n A x_n); \\ y_n = \alpha_n z_n + (1 - \alpha_n) S_n z_n; \\ C_{n+1} = \{ z \in C_n : ||z_n - z|| \le ||y_n - z|| \le ||x_n - z|| \}; \\ x_{n+1} = P_{C_{n+1}} x_1, \ n \ge 1; \end{cases}$$

where  $J_{r_n} = (I + r_n B)^{-1}$ ,  $\liminf_{n \to \infty} r_n > 0$ ,  $r_n \le 2\alpha$  and  $\limsup_{n \to \infty} \alpha_n < 1$ . Then the sequence  $\{x_n\}$  converges strongly to  $q = P_{\Gamma} x_0$ .

The Split Feasibility Problem (SFP) introduced by Censor and Elfving [12] is to find

$$x^* \in C \text{ such that } Ax^* \in Q,$$
 (1.2)

where C and Q are nonempty, closed and convex subsets of real Banach spaces  $E_1$  and  $E_2$  respectively, and  $A: E_1 \to E_2$  is a bounded linear operator. The SFP arises from phase retrievals and in medical image reconstruction to mention a few. For more details on SFP, we refer readers to (see[13, 32, 47, 25] and other references therein). In 2018, Ma et. al. [25] introduced an iterative algorithm to solve the SFP (1.2) and fixed point problem of quasi- $\phi$ -nonexpansive mappings in Banach spaces. They proved a strong convergence result to a common solution of the aforementioned problems and apply their result to convexly constrained inverse problem and split null point problem. Motivated by SFP (1.2), Censor et al. [11] introduced a new class of problem known as the Split Variational Inequality Problem (SVIP) as follows: Find  $x^* \in C$  such that

$$\langle f(x^*), x - x^* \rangle \ge 0, \forall \ x \in C,$$
 (1.3)

and such that  $y^* = Ax^* \in Q$  solves

$$\langle g(y^*), y - y^* \rangle \ge 0, \ \forall \ y \in Q, \tag{1.4}$$

where C and Q are nonempty, closed and convex subsets of real Hilbert spaces  $H_1$  and  $H_2$  respectively,  $A: H_1 \to H_2$  is a bounded linear operator,  $f: H_1 \to H_1$  and  $g: H_2 \to H_2$  are two given operators. Based on the work of Censor et al. [11], Moudafi [31] studied and introduced a new type of split problem called the Split Monotone Variational Inclusion Problem (SMVIP) which is to find

$$x^* \in H_1 \text{ such that } 0 \in f(x^*) + F(x^*),$$
 (1.5)

and such that  $y^* = Ax^* \in H_2$  solves

$$0 \in g(y^*) + G(y^*), \tag{1.6}$$

where  $F: H_1 \to 2^{H_1}$  and  $G: H_2 \to 2^{H_2}$  are multivalued mappings,  $A: H_1 \to H_2$  is a bounded linear operator,  $f: H_1 \to H_1$  and  $g: H_2 \to H_2$  are single-valued operators.

**Remark 1.2.** As observed by Moudafi, setting  $F = N_C$  and  $G = N_Q$  in SMVIP (1.5)-(1.6), where  $N_C$  and  $N_Q$  are the normal cones of C and Q respectively, then we recover SVIP (1.3)-(1.4). In summary, SMVIP can be seen as an important generalization of SFP, SVIP, MVIP and other related problems in the literature.

Recently, Ezeora and Izuchukwu [17] introduced the following iterative algorithm to approximate solution of the following problem:  $\Delta := \{z \in (F+f)^{-1}(0) : Az \in Fix(S)\} \neq \emptyset$ . For arbitrary  $x_1, u \in H_1$ 

$$\begin{cases} u_n = (1 - \beta_n)x_n + \beta_n u \\ y_n = P_C(u_n - \gamma_n A^*(I - T_\gamma) A u_n) \\ x_{n+1} = J_\lambda^M (I - \lambda f) y_n, \ n \ge 1, \end{cases}$$
 (1.7)

where  $T_{\gamma} = \gamma I + (1 - \gamma)S$  with  $\gamma \in [\mu, 1)$ ,  $\{\gamma_n\} \subset [a, b]$  for some  $a, b \in \left(0, \frac{1}{||A||^2}\right)$ ,  $F: H_1 \to 2^{H_1}$  is a multivalued maximal monotone mapping,  $f: H_1 \to H_1$  is an  $\alpha$ -ism and  $S: H_2 \to H_2$  being  $\mu$ -strictly pseudocontractive mapping with  $T_{\gamma}$  being a nonexpansive mapping. They proved that the sequence  $\{x_n\}$  converges strongly to an element of  $\Gamma$ .

Remark 1.3. It is well-known that stepsizes play essential roles in the convergence properties of iterative methods, since the efficiency of the methods depends heavily on it. When the stepsize depends on the knowledge of either the operator norm or the coefficient of an operator, it usually slows down the convergence rate of the method. Moreover, in many practical cases, the operator norm or the coefficient of a given operator may not be known or may be difficult to estimate, thus, making the applicability of such method to be questionable. Therefore, iterative methods that does not depend on any of these, are more applicable in practice. It is easy to see in Algorithm 1.7 that

$$a, b \in \left(0, \frac{1}{||A||^2}\right),$$

thus this condition makes the iterative algorithm not applicable to real life problems.

**Question:** It is natural to ask if we can further generalize problem  $\Delta := \{z \in (F+f)^{-1}(0) : Az \in Fix(S)\} \neq \emptyset$  and makes Algorithm (1.7) more effective and applicable to real life problem.

Motivated by the works of Zhang and Jiang [52], and Ma et al. [25] and Ezeora and Izuchukwu [17], we introduced a shrinking iterative algorithm for finding zeros of the sum of two maximal monotone operators which is also a common fixed point of relatively nonexpansive mapping in Banach spaces. We prove a strong convergence result for approximating solutions of the aforementioned problems and give applications of our main result to split convex minimization problem. In simple and clear terms, the proposed method of this paper has the following features:

- 1. The problem and our iterative algorithm considered in this article generalizes the ones in [17, 25, 52] and so on.
- 2. As mentioned above in [17], they considered computing with the help of an operator norm (||A||) as this gives difficulties in computation. In our article, the stepsize employed is independent of an operator norm as this yield easy implementation of our algorithm in practice. Also, we were able to dispense with the compactness condition during the course of obtaining a strong convergence result.
- 3. As seen in different algorithms that certain conditions are needed to be imposed on algorithm before obtaining a strong convergence result, we obtain a strong convergence result by imposing a very minimal condition.
- 4. It is crucial to study the SMVIP because of its potential application to mathematical models whose constraints can be expressed as SMVIP. This happens, in particular, in practical problems in signal recovery, image processing, and network resource allocation. It is also important to study the SMVIP because of its generalization on other optimization problems like SFP, MVIP, SVIP, variational inequality problem and other related problems in literature.

The result present in this paper extends the result of Ma et al. [25], Zhang and Jiang [52] and other related results in literature.

#### 2. Preliminaries

We give some definitions and important results which will be useful in establishing our main results. In the sequel, we denote strong and weak convergence by " $\rightarrow$ " and " $\rightarrow$ ", respectively.

Throughout this paper, we assume C to be a nonempty, closed and convex subset of a real Banach space with norm  $||\cdot||$ ,  $J: E \to 2^{E^*}$  be the normalized duality mapping defined by

$$J(x) = \{x^* \in E^* : \langle x, x^* \rangle = ||x||^2 = ||x^*||^2, \quad \forall x \in E\},\$$

Consider the Lyapunov functional  $\phi: E \times E \to [0, \infty)$  defined as in [4, 5] by

$$\phi(x,y) = ||x||^2 - 2\langle x, Jy \rangle + ||y||^2, \quad \forall x, y \in E.$$

Alber [4] introduced a generalized projection operator  $\Pi_C: E \to C$  which is an analogue of the metric projection defined as follows:

$$\Pi_C(x) = argmin_{y \in C} \phi(y, x), x \in E.$$

That is,  $\Pi_C(x) = \overline{x}$ , where  $\overline{x}$  is the unique solution to the minimization problem  $\phi(\overline{x}, x) = \inf_{y \in C} \phi(y, x)$ . In real Hilbert space, we observe that  $\Pi_C(x) \equiv P_C(x)$  and  $\phi(x, y) = ||x - y||^2$ . It is obvious from the definition of the functional  $\phi$  that

$$(||x|| - ||y||)^2 \le \phi(x, y) \le (||x|| + ||y||)^2.$$
 (2.1)

Apart from inequality (2.1), the Lyapunov functional  $\phi$  also satisfy the following inequalities:

$$A_1$$
.  $\phi(x,y) = \phi(x,z) + \phi(z,y) + 2\langle x-z, Jz - Jy \rangle$ ;

$$A_2$$
.  $2\langle x - y, Jz - Jw \rangle = \phi(x, w) + \phi(y, z) - \phi(x, z) - \phi(y, w);$ 

$$A_3. \ \phi(x,y) \le ||x||||Jx - Jy|| + ||y||||x - y||.$$

**Note:** If E is a reflexive, strictly convex, and smooth Banach space, then for  $x, y \in E$ ,  $\phi(x, y) = 0$  if and only if x = y, see [46]. We are also concerned with the functional  $V : E \times E^* \to \mathbb{R}$  which is defined by

$$V(x, x^*) = ||x||^2 - 2\langle x, x^* \rangle + ||x^*||^2$$
(2.2)

for all  $x \in E$  and  $x^* \in E^*$ . Observe that,  $V(x, x^*) = \phi(x, J^{-1}x^*)$ , if E is a reflexive, strictly convex and smooth Banach space and

$$V(x, x^*) \le V(x, x^* + y^*) - 2\langle J^{-1}x^* - x, y^* \rangle \tag{2.3}$$

for all  $x \in E$  and all  $x^*, y^* \in E^*$ , see [38].

Let C be a closed and convex subset of E and  $T:C\to C$  be a mapping a point  $x\in C$  is called a fixed point of T, if x=Tx. We denote the set of fixed points of T by F(T). A point  $p\in C$  is called an asymptotic fixed point of T, if C contains a sequence  $\{x_n\}$  such that  $x_n \to p$  and  $||x_n - Tx_n|| \to 0$  as  $n\to\infty$ . We denote by  $\widehat{Fix}(T)$  the set of asymptotic fixed points of T. A mapping  $T:C\to C$  is said to be relatively nonexpansive (see [26]) if the following conditions are satisfied:

- (L1)  $Fix(T) \neq \emptyset$ ;
- (L2)  $\phi(p, Tx) \le \phi(p, x), \ \forall \ x \in C, \ p \in Fix(T);$
- (L3)  $Fix(T) = \widehat{Fix(T)}$ .

If T satisfies (L1) and (L2), then T is said to be relatively quasi-nonexpansive. It is easy to see that the class of relatively quasi-nonexpansive mappings contains the class of relatively nonexpansive mappings. Many authors have considered the relative quasi-nonexpansive mappings, (see [43, 48]).

**Definition 2.1.** Let C be a nonempty, closed and convex subset of a real Banach spaces E. A mapping  $T: C \to C$  is said to be strongly relatively nonexpansive, see [21] if the following conditions are satisfied.

- 1. T is relatively nonexpansive.
- 2. If  $\{x_n\}$  is a bounded sequence in C such that

$$\lim_{n \to \infty} (\phi(p, x_n) - \phi(p, Tx_n)) = 0,$$

for some  $p \in Fix(T)$ , then  $\lim_{n\to\infty} \phi(Tx_n, x_n) = 0$ .

**Definition 2.2.** Let  $X \subset E$  be a nonempty subset. Then a mapping  $A: X \to E^*$  is called (i) monotone on X if

$$\langle Ax - Ay, x - y \rangle \ge 0, \ \forall \ x, y \in X;$$

Below is an example of a monotone operator in quantum mechanics.

Example 2.3. [41] Let the operator

$$Au := -b^{2}\Delta u + (f(x) + c)u(x) + u(x) \int_{\mathbb{R}^{3}} \frac{u^{2}(y)}{|x - y|} dy,$$

where  $\Delta := \sum_{i=1}^{3} \frac{\partial^2}{\partial x_i^2}$  is the Laplacian in  $\mathbb{R}^3$ , b and c are constants,  $f(x) = f_0(x) + f_1(x)$ , where  $f_0(x) \in L^{\infty}(\mathbb{R}^3)$  and  $f_1(x) \in L^2(\mathbb{R}^3)$ . Let A := L + B, where the operator L which is the schrödinger operator is the linear part of A and B defined by the last term. It is known that B is a monotone operator on  $L^2(\mathbb{R}^3)$ , (see p. 23 of [6]) which also implies that  $A : L^2(\mathbb{R}^3) \to L^2(\mathbb{R}^3)$  is also a monotone operator.

**Definition 2.4.** A multi-valued operator  $B: E \to 2^{E^*}$  with domain  $Dom(B) = \{x \in E : Bx \neq 0\}$  and the range  $R(B) = \{Bx : x \in D(B)\}$  is said to be monotone if for  $x, y \in D(B), a \in Bx, b \in By$ , the following inequality holds:

$$\langle x - y, a - b \rangle \ge 0.$$

A monotone operator B is said to be maximal if its graph  $Gra(B) = \{(x, y) : y \in Bx\}$  is not properly contained in the graph of any other monotone operator.

If E is a strictly convex, reflexive and smooth Banach space and  $B: E \to 2^{E^*}$  is a maximal monotone operator.

For a maximal monotone operator F, the metric resolvent of F of parameter  $\lambda > 0$ , denoted by  $K_{\lambda}^{F}$  is the operator, (see [36])

$$K_{\lambda}^{F} := (I + \lambda J^{-1}F)^{-1} : E \to dom(F).$$

The metric resolvent is known to satisfy the following property (see [8]).

$$\langle K_{\lambda}^F x - p, J(x - K_{\lambda}^F x) \rangle \ge 0, \forall x \in E, p \in Fix(K_{\lambda}^F).$$

It is also known that  $K_{\lambda}^{F}$  is nonexpansive and  $0 \in Fx$  if and only if  $K_{\lambda}^{F}x = x$ , (see [36]).

Also, we know that If E is a smooth, strictly convex and reflexive Banach space, then F is maximal monotone if and only if  $R(J + \lambda F) = E^*$ . The resolvent of E with parameter  $\lambda > 0$ , denoted by  $L_{\lambda}^F$ , is the operator

$$L_{\lambda}^{F} := (J + \lambda F)^{-1}J : E \to dom(F).$$

It is clear from [21] that  $L^F_{\lambda}$  satisfies the following properties.

- 1.  $L^F_{\lambda}: E \to dom(F)$  is a single-valued mapping.
- 2.  $0 \in Fx$  if and only if  $L_{\lambda}^{F}x = x$  for each  $\lambda$ .
- 3.  $L_{\lambda}^{F}$  is strongly relatively nonexpansive.

**Definition 2.5.** A mapping  $f: E \to E^*$  is called a single-valued  $\lambda$ -inverse strongly monotone (ism) (see [20]) if for any  $x, y \in E$ , there exists  $\lambda > 0$  such that

$$\langle J^{-1}(Jx - \lambda fx) - J^{-1}(Jx - \lambda fy), fx - fy \rangle \ge 0.$$

Following [39], the anti-resolvent  $A^f_{\lambda}: E \to E$  associated with  $f: E \to E^*$  and  $\lambda > 0$  defined as

$$A^f_{\lambda} := J^{-1} \circ (J - \lambda f) : E \to E.$$

It has been shown in [45] that  $A_{\lambda}^f$  is strongly relatively nonexpansive. More so, assuming  $f^{-1}(0) \neq \emptyset$ , it is easy to see that  $f^{-1}(0) = Fix(A_{\lambda}^F)$ .

For a real Banach space E, the modulus of convexity of E is the function  $\delta_E:[0,2]\to[0,1]$  defined

$$\delta_E(\epsilon) = \inf\{1 - \frac{1}{2}||x + y|| : ||x|| = ||y|| = 1, ||x - y|| \ge \epsilon\}.$$
(2.4)

Recall that E is said to be uniformly convex if  $\delta_E(\epsilon) > 0$  for any  $\epsilon \in (0,2]$ . E is said to be strictly convex if  $\frac{||x+y||}{2} < 1$  for all  $x, y \in E$  with ||x|| = ||y|| = 1 and  $x \neq y$ . Also, E is p-uniformly convex if there exists a constant  $c_p > 0$  such that  $\delta_E(\epsilon) > c_p \epsilon^p$  for any  $\epsilon \in (0, 2]$ . The modulus of smoothness of E is the function  $\rho_E : \mathbb{R}^+ \to \mathbb{R}^+$  defined by

$$\rho_E(t) = \sup\{\frac{1}{2}(||x + ty|| - ||x - ty||) - 1 : ||x|| = ||y|| = 1\}.$$
(2.5)

E is said to be uniformly smooth if  $\lim_{t\to 0} \frac{\rho_E(t)}{t} = 0$ . Let  $1 < q \le 2$ , then E is q-uniformly smooth if there exists  $c_q > 0$  such that  $\rho_E(t) \le c_q t^q$  for t > 0. It is known that E is p-uniformly convex if and only if  $E^*$  is q-uniformly smooth, where  $p^{-1} + q^{-1} = 1$ . It is also known that every q-uniformly smooth Banach space is uniformly smooth. It is also widely known that if E is uniformly smooth, then the duality mapping J is norm-to-norm continuous on each bounded subset of E. The following are some important and useful properties of duality mapping J, for further details, see [46]:

- For every  $x \in E$ , Jx is nonempty, closed, convex and bounded subset of  $E^*$ .
- If E is smooth or  $E^*$  is strictly convex, then J is single valued. Also, If E is reflexive, then J is onto.
- If E is strictly convex, then J is strictly monotone, that is

$$\langle x - y, Jx - Jy \rangle > 0, x \neq y \quad \forall x, y \in E.$$

- ullet If E is smooth, strictly convex and reflexive and  $J^*:E^* o 2^E$  is the normalized duality mapping on  $E^*$ , then  $J^{-1} = J^*$ ,  $JJ^* = I_{E^*}$  and  $J^*J = I_E$ , where  $I_E$  and  $I_{E^*}$  are the identity mappings on E and  $E^*$  respectively.
- If E is uniformly convex and uniformly smooth, then J is uniformly norm-to-norm continuous on bounded subsets of E and  $J^* = J^{-1}$  is also uniformly norm-to-norm continuous on bounded subsets of  $E^*$ .

We now state the following results which will be useful to prove our main result.

**Lemma 2.6.** [9] Let  $\frac{1}{p} + \frac{1}{q} = 1$ , for p, q > 1. The space E is q-uniformly smooth if and only if its dual space  $E^*$  is p-uniformly convex.

**Lemma 2.7.** [49] Let E be a 2-uniformly smooth Banach space with the best smoothness constant k > 0. Then, the following inequality holds:

$$||x+y||^2 \le ||x||^2 + 2\langle y, Jx \rangle + 2||ky||^2, \ \forall \ x, y \in E.$$

**Lemma 2.8.** [49] Given a number r > 0, a real Banach space E is uniformly convex if and only if there exists a continuous strictly increasing function  $g:[0,\infty)\to[0,\infty)$  with g(0)=0 such that

$$||\lambda x + (1 - \lambda)y||^2 \le \lambda ||x||^2 + (1 - \lambda)||y||^2 - \lambda (1 - \lambda)g(||x - y||);$$

for all  $x, y \in E$  with  $||x|| \le r$  and  $||y|| \le r$  and  $\lambda \in [0, 1]$ .

**Lemma 2.9.** [5] Let E be a smooth, strictly convex and reflexive Banach space and C be a nonempty closed convex subset of E. Then, the following conclusions hold:

- (i)  $\phi(x, \Pi_C y) + \phi(\Pi_C y, y) \le \phi(x, y), \ \forall \ x \in C, y \in E.$
- (ii) If  $x \in E$  and  $z \in C$ , then  $z = \prod_C x$  iff  $\langle z y, Jx Jz \rangle \ge 0$ ,  $\forall y \in C$ .
- (iii) For  $x, y \in E$ ,  $\phi(x, y) = 0$ , iff x = y.

**Lemma 2.10.** [23] Let E be a uniformly convex and smooth Banach space and let  $\{x_n\}$ ,  $\{y_n\}$  be two sequences of E. If  $\phi(x_n, y_n) \to 0$  and either of  $\{x_n\}$  or  $\{y_n\}$  is bounded. Then,  $||x_n - y_n|| \to 0$ .

**Lemma 2.11.** [7] Let E be a real uniformly convex, smooth Banach space. Then, the following identities hold:

(i) 
$$\phi(x,y) = \phi(x,z) + \phi(z,y) + 2\langle x-z, Jz - Jy \rangle, \ \forall \ x,y \in E;$$

(ii) 
$$\phi(x,y) + \phi(y,x) = 2\langle x - y, Jx - Jy \rangle, \ \forall \ x, y \in E.$$

**Lemma 2.12.** [46] Let E be a smooth, strictly convex, and reflexive Banach space. Let C be a nonempty, closed and convex subset of E and let  $x_1 \in E$  and  $z \in C$ . Then, the following conclusions hold:

(i) 
$$z = P_C x_1$$
,

(ii) 
$$\langle z - y, J(x_1 - z) \rangle \ge 0, \ \forall \ y \in C.$$

**Lemma 2.13.** [19] Let C be a nonempty, closed and convex subset of a uniformly convex Banach space E and  $S: C \to E$  be a nonexpansive mapping. Then, I - S is demiclosed on C, i.e., if  $\{x_n\}$  is a sequence of C such that  $x_n \to x$  and  $||(I - S)|| \to 0$ , then x = Sx.

**Lemma 2.14.** [41] Let  $B: E \to 2^{E^*}$  be a maximal monotone operator and  $M: E \to E^*$  be an operator. Define an operator

$$T_{\lambda}x := J_{\lambda}^{B} \circ J^{-1}(J - \lambda M), \ x \in E, \ \lambda > 0.$$

Then  $Fix(T_{\lambda}) = (M+B)^{-1}(0)$ .

**Remark 2.15.** It can be seen from the above Lemma that  $(F+f)^{-1}(0) = Fix(L_{\lambda}^F \circ A_{\lambda}^f)$ .

### 3. Main result

**Lemma 3.1.** Suppose  $F: E \to 2^{E^*}$  is a maximal monotone operator and  $f: E \to E^*$  is a  $\lambda$ -ism mapping with  $\lambda > 0$  such that  $(F + f)^{-1}(0) \neq \emptyset$ . Then

$$\phi(u, L_{\lambda}^F \circ A_{\lambda}^f(x)) + \phi(L_{\lambda}^F \circ A_{\lambda}^f(x), x) \le \phi(u, x),$$

for any  $u \in (F+f)^{-1}(0)$  and  $x \in E$ .

The proof of the Lemma stated above is similar to the one in [33].

**Lemma 3.2.** Let E be a real Banach space,  $T: E \to E$  be a relatively nonexpansive mapping and  $F: E \to 2^{E^*}$  be a maximal monotone operator. Suppose  $f: E \to E^*$  is a  $\lambda$ -ism mapping for  $\lambda > 0$  and  $(f + F)^{-1}(0) \neq \emptyset$ , then

$$Fix(T(L_{\lambda}^F\circ A_{\lambda}^f))=Fix(T)\cap Fix(L_{\lambda}^F\circ A_{\lambda}^f).$$

**Proof**. Clearly,  $Fix(T) \cap Fix(L_{\lambda}^F \circ A_{\lambda}^f) \subseteq Fix(T(L_{\lambda}^F \circ A_{\lambda}^f))$ . We only need to prove that  $Fix(T(L_{\lambda}^F \circ A_{\lambda}^f)) \subseteq Fix(T) \cap Fix(L_{\lambda}^F \circ A_{\lambda}^f)$ . Let  $p \in Fix(T(L_{\lambda}^F \circ A_{\lambda}^f))$  and  $q \in Fix(T) \cap Fix(L_{\lambda}^F \circ A_{\lambda}^f)$ , then

$$\phi(q, p) = \phi(q, T(L_{\lambda}^{F} \circ A_{\lambda}^{f})x)$$

$$\leq \phi(q, (L_{\lambda}^{F} \circ A_{\lambda}^{f})x). \tag{3.1}$$

Now by applying Lemma 3.2 and (3.1), we get

$$\phi(p, (L_{\lambda}^{F} \circ A_{\lambda}^{f})) = \phi(q, p) - \phi(q, (L_{\lambda}^{F} \circ A_{\lambda}^{f})x)$$

$$\leq \phi(q, p) - \phi(q, p)$$

$$= 0$$

Hence,  $p \in Fix(L^F_{\lambda} \circ A^f_{\lambda})$ .

Next, we show that  $p \in Fix(T)$  since  $p \in Fix(T(L_{\lambda}^F \circ A_{\lambda}^f))$ , we obtain

$$\phi(p, Tp) = \phi(p, (T(L_{\lambda}^F \circ A_{\lambda}^f)p))$$
$$= \phi(p, Tp)$$
$$= 0$$

Hence  $p \in Fix(T)$ . This implies that  $p \in Fix(T) \cap Fix(L_{\lambda}^F \circ A_{\lambda}^f)$ . Therefore, we conclude that  $Fix(T(L_{\lambda}^F \circ A_{\lambda}^f)) = Fix(T) \cap Fix(L_{\lambda}^F \circ A_{\lambda}^f)$ .  $\square$ 

**Theorem 3.3.** Let  $E_1, E_2$  be 2-uniformly convex and uniformly smooth real Banach spaces with smoothness constant k satisfying  $0 < k \le \frac{1}{\sqrt{2}}$  and duals  $E_1^*, E_2^*$ , respectively. Let Q be a nonempty, closed and convex subset of  $E_2$ ,  $T: E_1 \to E_1$  and  $S: E_2 \to E_2$  be relatively nonexpansive mappings respectively. Suppose that  $A: E_1 \to E_2$  is a bounded linear operator with adjoint  $A^*$ ,  $F: E_1 \to 2^{E_1^*}$  and  $G: E_2 \to 2^{E_2^*}$  are maximal monotone operators. Let  $f: E_1 \to E_1^*$  and  $g: E_2 \to E_2^*$  be single-valued  $\lambda, \mu$ -ism operators with  $R_{\lambda}^F \circ B_{\lambda}^f := (J + \lambda F)^{-1} \circ (J - \lambda f): E_1 \to dom F$  for  $\lambda > 0$  and  $R_{\mu}^G \circ B_{\mu}^g := (J + \mu)G^{-1} \circ (J - \mu g): E - 2 \to dom G$  for  $\mu > 0$ , respectively. Assume that  $\Gamma:=\{x^*\in Fix(T)\cap (F+f)^{-1}(0) \text{ and } Ax^*\in Fix(S)\cap (G+g)^{-1}(0)\}\neq \emptyset$ , then  $\{x_n\}_{n=0}^{\infty}$  is generated iteratively by  $x_1\in E_1$  and  $C_1=E_1$  with

$$\begin{cases}
w_n = J_1^{-1}(J_1 x_n - \gamma_n A^* J_2(I - (S(R_\mu^G \circ B_\mu^g))) A x_n); \\
u_n = J_1^{-1}[(1 - \beta_n) J_1 w_n + \beta_n J_1(T(R_\lambda^F \circ B_\lambda^f)) w_n]; \\
C_{n+1} = \{v \in C_n : \phi(v, u_n) \le \phi(v, x_n)\}; \\
x_{n+1} = \Pi_{C_{n+1}} x_1; \ n \ge 1;
\end{cases} (3.2)$$

where  $\Pi_{C_{n+1}}$  is the generalized projection of  $E_1$  onto  $C_{n+1}$ . Suppose  $\{\beta_n\}_{n=1}^{\infty}$  is a sequence in (0,1) such that  $\liminf_{n\to\infty}\beta_n(1-\beta_n)>0$ , and the step size  $\gamma_n$  is chosen in such a way that  $\gamma_n=\frac{\rho_n||(I-(S(R_{\mu}^G\circ B_{\mu}^g)))Ax_n||^2}{||A^*J_2(I-(S(R_{\mu}^G\circ B_{\mu}^g)))Ax_n||^2}$ , for  $Ax_n\neq (S(R_{\mu}^G\circ B_{\mu}^g))Ax_n$ , where  $0< d\leq \rho_n\leq e< 1$  for  $d,e\in\mathbb{R}$ , otherwise  $\gamma_n=\gamma$  ( $\gamma$  being any nonnegative real number). Then, the sequence  $\{x_n\}$  converges strongly to  $\overline{x}\in\Gamma$ , where  $\overline{x}=\Pi_{\Gamma}x_1$ .

We divide our proof into several steps:

Step 1: We prove using Theorem 3.3 that  $C_n$  is closed and convex for each  $n \geq 1$ .

**Proof**. We obtain from Theorem 3.3 that  $C_1 = E_1$ , therefore  $C_1$  is closed and convex. Now assume that  $C_n$  is closed and convex, then

$$\phi(v, u_n) \leq \phi(v, x_n) 
\Leftrightarrow ||v||^2 - 2\langle v, J_1 u_n \rangle + ||u_n||^2 
\leq ||v||^2 - 2\langle v, J_1 x_n \rangle + ||x_n||^2 
\Leftrightarrow 2\langle v, J_1 x_n - J_1 u_n \rangle \leq ||x_n||^2 - ||u_n||^2.$$
(3.3)

We have from (3.3) that  $C_{n+1}$  is closed and convex subset of  $E_1$ . Therefore,  $\Pi_{C_{n+1}}$  is well defined.  $\square$  Step 2: We show that  $\Gamma \subseteq C_n$  for all  $n \ge 1$ .

**Proof**. Let  $x^* \in \Gamma \subseteq C_n$ , for  $n \ge 1$  then we have from (3.2) and Lemma 2.8 that

$$\phi(x^*, u_n) 
= \phi(x^*, J_1^{-1}((1 - \beta_n)J_1w_n + \beta_nJ_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n)) 
= ||x^*||^2 - 2\langle x^*, (1 - \beta_n)J_1w_n + \beta_nJ_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n\rangle 
+ ||(1 - \beta_n)J_1w_n + \beta_nJ_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||^2 
\leq ||x^*||^2 - 2(1 - \beta_n)\langle x^*, J_1w_n\rangle - 2\beta_n\langle x^*, J_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n\rangle 
+ (1 - \beta_n)||w_n||^2 + \beta_n||(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||^2 - \beta_n(1 - \beta_n)g(||J_1w_n - J_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||) 
= (1 - \beta_n)\phi(x^*, w_n) + \beta_n\phi(x^*, (T(R_{\lambda}^F \circ B_{\lambda}^f))w_n) - \beta_n(1 - \beta_n)g(||J_1w_n - J_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||) 
\leq (1 - \beta_n)\phi(x^*, w_n) + \beta_n\phi(x^*, w_n) - \beta_n(1 - \beta_n)g(||J_1w_n - J_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||) 
= \phi(x^*, w_n) - \beta_n(1 - \beta_n)g(||J_1w_n - J_1(T(R_{\lambda}^F \circ B_{\lambda}^f))w_n||) 
< \phi(x^*, w_n).$$
(3.4)

Also, we obtain from (3.2) that

$$\begin{split} &\phi(x^*, w_n) \\ &= \phi(x^*, J_1^{-1}(J_1x_n - \gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g))Ax_n))) \\ &= ||x^*||^2 - 2\langle x^*, J_1x_n - \gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g))Ax_n\rangle \\ &+ ||J_1x_n - \gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g))Ax_n||^2 \\ &= ||x^*||^2 - 2\langle x^*, J_1x_n - \gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g))Ax_n\rangle \\ &+ ||x_n - J_1^{-1}\gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g))Ax_n||^2 \\ &\leq ||x^*||^2 - 2\langle x^*, J_1x_n\rangle + 2\gamma_n\langle x^*, A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle \\ &+ 2||kx_n||^2 - 2\langle x^*, J_1x_n\rangle + 2\gamma_n\langle x^*, A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle + \gamma_n^2||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2 \\ &\leq ||x^*||^2 - 2\langle x^*, J_1x_n\rangle + 2\gamma_n\langle x^*, A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle \\ &+ ||x_n||^2 - 2\langle x_n, \gamma_n A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle + \gamma_n^2||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2 \\ &= \phi(x^*, x_n) - 2\gamma_n\langle x_n - x^*, A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle + \gamma_n^2||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2 \\ &= \phi(x^*, x_n) - 2\gamma_n\langle Ax_n - Ax^*, J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n\rangle + \gamma_n^2||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2. \end{split}$$

Applying Lemma 2.7, we get

$$\langle Ax_{n} - Ax^{*}, J_{2}(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n} \rangle$$

$$= \langle Ax_{n} - (S(R_{\mu}^{G} \circ B_{\mu}^{g}))Ax_{n} + (S(R_{\mu}^{G} \circ B_{\mu}^{g}))Ax_{n} - Ax^{*}, J_{2}(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n} \rangle$$

$$= ||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||^{2} + \langle S(R_{\mu}^{G} \circ B_{\mu}^{g})Ax_{n} - Ax^{*}, J_{2}(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n} \rangle$$

$$\geq ||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||^{2} + \frac{1}{2}(||Ax_{n} - Ax^{*}||^{2} - ||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))||^{2}$$

$$- ||(S(R_{\mu}^{G} \circ B_{\mu}^{g}))Ax_{n} - Ax^{*}||^{2})$$

$$\geq \frac{1}{2}||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||^{2}.$$

$$(3.7)$$

On substituting (3.7) into (3.6), we obtain

$$\phi(x^*, w_n) \le \phi(x^*, x_n) - \gamma_n \left( ||(I - (S(R_\mu^G \circ B_\mu^g)))Ax_n||^2 + \gamma_n ||A^* J_2 (I - (S(R_\mu^G \circ B_\mu^g)))Ax_n||^2 \right)$$

$$\le \phi(x^*, x_n).$$
(3.8)

Hence, we conclude from (3.4) and (3.8) that

$$\phi(x^*, u_n) \le \phi(x^*, w_n)$$
  
 
$$\le \phi(x^*, x_n). \tag{3.10}$$

Therefore, we conclude that  $x^* \in C_{n+1}$ . This implies that  $\Gamma \subseteq C_n$  for all  $n \ge 1$ .

Hence, (3.2) is well-defined.  $\square$  Step 3: We show that  $\{x_n\}$  is a Cauchy sequence.

**Proof**. Let  $x^* \in \Gamma$ , by using the definition of  $C_n$ , we have that  $x_n = \prod_{C_n} x_1$  for all  $n \ge 1$ . It follows from Lemma 2.9, we have that

$$\phi(x_n, x_1) = \phi(\Pi_{C_n} x_1, x_1) \le \phi(x^*, x_1) - \phi(x^*, \Pi_{C_n} x_1)$$
  
$$\le \phi(x^*, x_1), \ \forall \ n > 1.$$

This implies that  $\{\phi(x_n, x_1)\}$  is bounded.

More so, since  $x_n = \prod_{C_n} x_1$  and  $x_{n+1} = \prod_{C_{n+1}} x_1 \in C_{n+1} \subseteq C_n$ , we have that

$$\phi(x_n, x_1) \le \phi(x_{n+1}, x_1), \ \forall \ n \ge 1.$$
(3.11)

Therefore,  $\{\phi(x_n, x_1)\}$  is non-decreasing and hence bounded. So, the limit also exists. From Lemma 2.9, we obtain that

$$\phi(x_{n+1}, x_n) = \phi(x_{n+1}, \Pi_{C_n} x_1) \le \phi(x_{n+1}, x_1) - \phi(\Pi_{C_n} x_1, x_1)$$
  
=  $\phi(x_{n+1}, x_1) - \phi(x_n, x_1),$  (3.12)

thus, we have that

$$\lim_{n \to \infty} \phi(x_{n+1}, x_n) = 0. \tag{3.13}$$

Applying Lemma 2.10, we obtain that

$$\lim_{n \to \infty} ||x_{n+1} - x_n|| = 0. \tag{3.14}$$

Suppose  $x_n = \prod_{C_n} x_1 \subseteq C_m$ , for some positive integers m, n with  $m \le n$ , then applying Lemma 2.9 and using the same approach as in (3.12), we obtain that

$$\phi(x_m, x_n) = \phi(x_m, \Pi_{C_n} x_1) 
\leq \phi(x_m, x_1) - \phi(\Pi_{C_n} x_1, x_1) 
= \phi(x_m, x_1) - \phi(x_n, x_1).$$
(3.15)

Since  $\lim_{n\to\infty} \phi(x_n, x_1)$  exists, it follows from (3.15) and Lemma 2.10 that  $\lim_{n\to\infty} ||x_n - x_m|| = 0$ . Hence, we conclude that  $\{x_n\}$  is a Cauchy sequence.  $\square$ 

Step 4: Let  $\{x_n\}$  be a sequence generated by (3.2), then (i)  $\lim_{n\to\infty} ||T(R_{\lambda}^F \circ B_{\lambda}^f)w_n - w_n|| = 0$ .

(ii)  $\lim_{n\to\infty} ||(I - S(R_{\mu}^G \circ B_{\mu}^g))Ax_n|| = 0.$ (iii)  $\lim_{n\to\infty} ||A^*J_2(I - S(R_{\mu}^G \circ B_{\mu}^g))Ax_n|| = 0.$ 

**Proof**. Since  $x_{n+1} = \Pi_{C_{n+1}} \in C_{n+1} \subseteq C_n$ , by the definition of  $C_{n+1}$ , (3.11) and (3.13), we have that

$$\phi(x_{n+1}, u_n) \le \phi(x_{n+1}, x_n) \to 0, \ (n \to \infty).$$
 (3.16)

We have from Lemma 2.10 that

$$\lim_{n \to \infty} ||x_{n+1} - u_n|| = 0. (3.17)$$

Also, from (3.14) and (3.17), we have that

$$\lim_{n \to \infty} ||u_n - x_n|| = 0. {(3.18)}$$

From (3.4), (3.5) and (3.8), we have that

$$\phi(x^*, u_n) \le \phi(x^*, x_n) - \beta_n (1 - \beta_n) g(||J_1 w_n - J_1(T(R_\lambda^F \circ B_\lambda^f)) w_n||) - \gamma_n (||(I - (S(R_\mu^G \circ B_\mu^g))) Ax_n||^2 + \gamma_n ||A^* J_2(S(R_\mu^G \circ B_\mu^g)) Ax_n||^2).$$
(3.19)

It then follows that

$$\beta_{n}(1-\beta_{n})g(||J_{1}w_{n}-J_{1}(T(R_{\lambda}^{F}\circ B_{\lambda}^{f}))w_{n}||) 
\leq \phi(x^{*},x_{n})-\phi(x^{*},u_{n}) 
= ||x^{*}||^{2}-2\langle x^{*},J_{1}x_{n}\rangle+||x_{n}||^{2}-||x^{*}||^{2}+2\langle x^{*},J_{1}u_{n}\rangle-||u_{n}||^{2} 
= 2\langle x^{*},J_{1}u_{n}-J_{1}x_{n}\rangle+||x_{n}||^{2}-||u_{n}||^{2} 
\leq 2||x^{*}|| ||J_{1}u_{n}-J_{1}x_{n}||+||x_{n}-u_{n}|| (||x_{n}||+||u_{n}||).$$
(3.20)

Since  $E_1$  is 2-uniformly convex and uniformly smooth Banach space,  $J_1$  is uniformly continuous from norm-to-norm. Then, we obtain from (3.18) that

$$\lim_{n \to \infty} ||J_1 u_n - J_1 x_n|| = 0. (3.21)$$

By applying the condition  $\liminf_{n\to\infty} \beta_n(1-\beta_n) > 0$  and (3.21) in (3.20), we obtain that

$$\lim_{n \to \infty} g(||J_1 w_n - J_1(T(R_\lambda^F \circ B_\lambda^f)) w_n||) = 0.$$
(3.22)

Using the property of g in Lemma 2.8, we have that

$$\lim_{n \to \infty} ||J_1 w_n - J_1(T(R_\lambda^F \circ B_\lambda^f)) w_n|| = 0$$
(3.23)

Since  $J_1^{-1}$  is uniformly norm-to-norm continuous on bounded sets, we have

$$\lim_{n \to \infty} ||w_n - (T(R_\lambda^F \circ B_\lambda^f))w_n|| = 0.$$
(3.24)

Also, from (3.19) and following the same approach in (3.20), we have that

$$\gamma_{n}(||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||^{2} - \gamma_{n}||A^{*}J_{2}(I - S(R_{\mu}^{G} \circ B_{\mu}^{g}))Ax_{n}||^{2})$$

$$\leq \phi(x^{*}, x_{n}) - \phi(x^{*}, u_{n})$$

$$= ||x^{*}||^{2} - 2\langle x^{*}, J_{1}x_{n}\rangle + ||x_{n}||^{2} - ||x^{*}||^{2} + 2\langle x^{*}, J_{1}u_{n}\rangle - ||u_{n}||^{2}$$

$$= 2\langle x^{*}, J_{1}u_{n} - J_{1}x_{n}\rangle + ||x_{n}||^{2} - ||u_{n}||^{2}$$

$$\leq 2||x^{*}|| ||J_{1}u_{n} - J_{1}x_{n}|| + ||x_{n} - u_{n}|| (||x_{n}|| + ||u_{n}||).$$

Using (3.18) and (3.21), we have that

$$\lim_{n \to \infty} \gamma_n \left( || (I - (S(R_\mu^G \circ B_\mu^g))) A x_n ||^2 - \gamma_n || A^* J_2 (I - S(R_\mu^G \circ B_\mu^g)) A x_n ||^2 \right) = 0.$$
 (3.25)

Applying the definition on  $\gamma_n$  and the fact that  $\rho_n$  is bounded from above and away from zero, (3.25) gives

$$\lim_{n \to \infty} \frac{||(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^4}{||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2} = 0.$$
(3.26)

Observe that

$$||A^*J_2(I - (S(R_\mu^G \circ B_\mu^g)))Ax_n|| \le ||A^*|| ||J_2(I - (S(R_\mu^G \circ B_\mu^g)))Ax_n||$$

$$= ||A|| ||(I - (S(R_\mu^G \circ B_\mu^g)))Ax_n||.$$
(3.27)

Therefore, from (3.26), we get

$$\lim_{n \to \infty} ||(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n|| \le ||A|| \lim_{n \to \infty} \frac{||(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^4}{||A^*J_2(I - (S(R_{\mu}^G \circ B_{\mu}^g)))Ax_n||^2} = 0.$$
 (3.28)

It follows from (3.27) and (3.28) that

$$\lim_{n \to \infty} ||A^* J_2 (I - (S(R_\mu^G \circ B_\mu^g))) A x_n|| = 0.$$
(3.29)

From (3.2) and (3.26), we have that

$$||J_{1}w_{n} - J_{1}x_{n}|| = \gamma_{n}||A^{*}J_{2}(I - S(R_{\mu}^{G} \circ B_{\mu}^{g}))Ax_{n}||$$

$$\leq \frac{\rho_{n}||(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||^{2}}{||A^{*}J_{2}(I - (S(R_{\mu}^{G} \circ B_{\mu}^{g})))Ax_{n}||}.$$
(3.30)

From (3.2), (3.30) and by uniform continuity of  $J_1$  and  $J_1^{-1}$  on bounded subset, we obtain that

$$\lim_{n \to \infty} ||w_n - x_n|| = 0. \tag{3.31}$$

Also, from (3.2) and (3.23), we get

$$||J_1 u_n - J_1 w_n|| \le \beta_n ||J_1 (T(R_\lambda^F \circ B_\lambda^f)) w_n - J_1 w_n|| \to 0, \text{ as } n \to \infty.$$
 (3.32)

More so, from (3.32) and by uniform continuity of  $J_1$  and  $J_1^*$  on bounded subset, we obtain that

$$\lim_{n \to \infty} ||u_n - w_n|| = 0. \tag{3.33}$$

From (3.31) and (3.33), we get that

$$\lim_{n \to \infty} ||u_n - x_n|| = 0. \tag{3.34}$$

Step 4: We show that  $\overline{x} \in \Gamma$ .

**Proof**. Since  $\{x_n\}$  is bounded, there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  and  $\overline{x} \in E_1$  such that  $x_{n_k} \to \overline{x}$ . Now using (3.31) and (3.34), there exist subsequence  $\{w_{n_k}\}$  of  $\{w_n\}$  and  $\{u_{n_k}\}$  of  $\{u_n\}$  such that  $\{w_n\}$  and  $\{u_n\}$  converges weakly to  $\overline{x}$ . From (3.24), the fact that T is relatively nonexpansive mapping and Lemma 3.1, we obtain that  $\overline{x} \in Fix(T(R_\lambda^F \circ B_\lambda^f)) = Fix(T) \cap (F+f)^{-1}(0)$ . Also, since A is a bounded linear operator, we have that  $Ax_{n_k} \to A\overline{x}$ . Thus from (3.28), the fact that S is a relatively nonexpansive mapping, the demiclosedness principle and Lemma 3.1, we have that  $A\overline{x} \in Fix(S(R_\lambda^G \circ B_\lambda^g)) = Fix(S) \cap (G+g)^{-1}(0)$ . Hence, we therefore conclude that  $\overline{x} \in \Gamma$ .  $\square$ 

Step 5: We prove that  $\{x_n\} \to \overline{x}$ 

**Proof**. Let  $\overline{x} = \Pi_{\Gamma} x_1$ ,  $\overline{x} \in \Gamma$ , from  $x_n = \Pi_{C_n} x_1$  and  $\overline{x} \in \Gamma \subseteq C_n$ , we have

$$\phi(x_n, x_1) \le \phi(\overline{x}, x_1),\tag{3.35}$$

which implies that

$$\phi(\overline{x}, x_1) \le \liminf_{n \to \infty} \phi(x_n, x_1) \le \phi(\overline{x}, x_1). \tag{3.36}$$

From the definition of  $\overline{x} = \Pi_{\Gamma} x_1$ , we have that  $x^* = \overline{x}$ . Hence  $\liminf_{n \to \infty} x_n = \overline{x} = \Pi_C x_1$ . We therefore conclude that  $\{x_n\}$  converges strongly to  $\overline{x} \in \Gamma$ , where  $\overline{x} = \Pi_{\Gamma} x_1$ .  $\square$  In the following result, we considered only the SMVIP without the fixed point problems.

Corollary 3.4. Let  $E_1, E_2$  be 2-uniformly convex and uniformly smooth real Banach spaces with smoothness constant k satisfying  $0 < k \le \frac{1}{\sqrt{2}}$  and duals  $E_1^*, E_2^*$ , respectively. Let Q be a nonempty, closed and convex subset of  $E_2$ . Suppose that  $A: E_1 \to E_2$  is a bounded linear operator with adjoint  $A^*$ ,  $F: E_1 \to 2^{E_1^*}$  and  $G: E_2 \to 2^{E_2^*}$  are maximal monotone operators. Let  $f: E_1 \to E_1^*$  and  $g: E_2 \to E_2^*$  be single-valued  $\lambda, \mu$ -ism operators with  $R_{\lambda}^F \circ B_{\lambda}^f := (J + \lambda F)^{-1} \circ (J - \lambda f) : E_1 \to dom F$  for  $\lambda > 0$  and  $R_{\mu}^G \circ B_{\mu}^g := (J + \mu)G^{-1} \circ (J - \mu g) : E - 2 \to dom G$  for  $\mu > 0$ , respectively. Assume that  $\Gamma:=\{x^* \in (F+f)^{-1}(0) \text{ and } Ax^* \in (G+g)^{-1}(0)\} \neq \emptyset$ , then  $\{x_n\}_{n=0}^{\infty}$  is generated iteratively by  $x_1 \in E_1$  and  $C_1 = E_1$  with

$$\begin{cases} w_n = J_1^{-1}(J_1 x_n - \gamma_n A^* J_2(I - (R_\mu^G \circ B_\mu^g)) A x_n); \\ u_n = J_1^{-1}[(1 - \beta_n) J_1 w_n + \beta_n J_1(R_\lambda^F \circ B_\lambda^f) w_n]; \\ C_{n+1} = \{ v \in C_n : \phi(v, u_n) \le \phi(v, x_n) \}; \\ x_{n+1} = \Pi_{C_{n+1}} x_1; \ n \ge 1; \end{cases}$$

$$(3.37)$$

where  $\Pi_{C_{n+1}}$  is the generalized projection of  $E_1$  onto  $C_{n+1}$ . Suppose  $\{\beta_n\}_{n=1}^{\infty}$  is a sequence in (0,1) such that  $\liminf_{n\to\infty}\beta_n(1-\beta_n)>0$ , and the step size  $\gamma_n$  is chosen in such a way that  $\gamma_n=\frac{\rho_n||(I-(R_{\mu}^G\circ B_{\mu}^g))Ax_n||^2}{||A^*J_2(I-(R_{\mu}^G\circ B_{\mu}^g))Ax_n||^2}$ , for  $Ax_n\neq(R_{\mu}^G\circ B_{\mu}^g)Ax_n$ , where  $0< d\leq \rho_n\leq e< 1$  for  $d,e\in\mathbb{R}$ , otherwise  $\gamma_n=\gamma$  ( $\gamma$  being any nonnegative real number). Then, the sequence  $\{x_n\}$  converges strongly to  $\overline{x}\in\Gamma$ , where  $\overline{x}=\Pi_{\Gamma}x_1$ .

Also, in the result discussed below, we considered the split common fixed point problem.

Corollary 3.5. Let  $E_1, E_2$  be 2-uniformly convex and uniformly smooth real Banach spaces with smoothness constant k satisfying  $0 < k \le \frac{1}{\sqrt{2}}$  and duals  $E_1^*, E_2^*$ , respectively. Let Q be a nonempty, closed and convex subset of  $E_2, T: E_1 \to E_1$  and  $S: E_2 \to E_2$  be relatively nonexpansive mappings respectively. Suppose that  $A: E_1 \to E_2$  is a bounded linear operator with adjoint  $A^*$ . Assume that  $\Gamma:=\{x^*\in Fix(T) \text{ and } Ax^*\in Fix(S)\}\neq\emptyset$ , then  $\{x_n\}_{n=0}^{\infty}$  is generated iteratively by  $x_1\in E_1$  and  $C_1=E_1$  with

$$\begin{cases}
w_n = J_1^{-1}(J_1x_n - \gamma_n A^* J_2(I - S)Ax_n); \\
u_n = J_1^{-1}[(1 - \beta_n)J_1w_n + \beta_n J_1(T)w_n]; \\
C_{n+1} = \{v \in C_n : \phi(v, u_n) \le \phi(v, x_n)\}; \\
x_{n+1} = \Pi_{C_{n+1}}x_1; \quad n \ge 1;
\end{cases}$$
(3.38)

where  $\Pi_{C_{n+1}}$  is the generalized projection of  $E_1$  onto  $C_{n+1}$ . Suppose  $\{\beta_n\}_{n=1}^{\infty}$  is a sequence in (0,1) such that  $\liminf_{n\to\infty}\beta_n(1-\beta_n)>0$ , and the step size  $\gamma_n$  is chosen in such a way that  $\gamma_n=\frac{\rho_n||(I-S)Ax_n||^2}{||A^*J_2(I-S)Ax_n||^2}$ , for  $Ax_n\neq (S)Ax_n$ , where  $0< d\leq \rho_n\leq e<1$  for  $d,e\in\mathbb{R}$ , otherwise  $\gamma_n=\gamma$  ( $\gamma$  being any nonnegative real number). Then, the sequence  $\{x_n\}$  converges strongly to  $\overline{x}\in\Gamma$ , where  $\overline{x}=\Pi_{\Gamma}x_1$ .

**Remark 3.6.** The result discussed in this article generalizes many related results, most especially, results where SVIP and SMVIP were discussed in the framework of real Hilbert spaces. Our results holds for the classes of nonexpansive and pseudocontractive mappings in the framework of real Hilbert spaces.

## 4. Applications

# 1. Application to Split Convex Minimization Problem:

**Definition 4.1.** Let Q be a convex subset of a vector space X and  $f: Q \to \mathbb{R} \cup \{+\infty\}$  be a map. Then,

(i) f is convex if for each  $\lambda \in [0,1]$  and  $x,y \in Q$ , we have

$$f(\lambda x + (1 - \lambda)y) \le \lambda f(x) + (1 - \lambda)f(y);$$

(ii) f is called proper if there exists at least one  $x \in Q$  such that

$$f(x) \neq +\infty;$$

(iii) f is lower semi-continuous at  $x_0 \in Q$  if

$$f(x_0) \le \liminf_{x \to x_0} f(x).$$

Let  $E_1$  and  $E_2$  be real Banach spaces. Let  $M: E_1 \to \mathbb{R}$  and  $N: E_2 \to \mathbb{R}$  are convex and differentiable functions and  $F: E_1 \to (-\infty, +\infty]$  and  $G: E_2 \to (-\infty, +\infty]$  are proper, convex and lower semi-continuous functions. It is clear that if  $\nabla M$  and  $\nabla N$  is  $\frac{1}{\alpha}$  and  $\frac{1}{\theta}$ —Lipschitz continuous, then it is  $\alpha, \theta$ -ism, where  $\nabla M$  and  $\nabla N$  are the gradient of M and N respectively. It is also known that the subdifferential  $\partial F$  and  $\partial G$  are maximal monotone. (see [40]). Moreover,

$$M(x^*) + F(x^*) = \min_{x \in E_1} \left[ M(x) + F(x) \right] \Leftrightarrow 0 \in M(x^*) + \partial F(x^*).$$

and

$$N(x^*) + G(x^*) = \min_{x \in E_2} \left[ N(x) + G(x) \right] \Leftrightarrow 0 \in N(x^*) + \partial G(x^*).$$

Our aim is to solve the following Split Convex Minimization and Fixed Point Problem, (in short, SCMFPP): find  $x^* \in E_1$  such that

$$x^* \in Fix(T) \cap argmin_{x \in E_1} M(x) + F(x)$$
 and  $y^* = Ax^* \in Fix(S) \cap argin_{y \in E_2} N(y) + G(y)$ . (4.1)

Suppose the solution set of (4.1) is denoted by  $\Theta$ , then by setting  $F = \partial F, G = \partial G, f = \nabla M$  and  $g = \nabla N$ , (3.2) becomes

$$\begin{cases} w_{n} = J_{1}^{-1}(J_{1}x_{n} - \gamma_{n}A^{*}J_{2}(I - (S(R_{\mu}^{\partial G} \circ B_{\mu}^{\nabla N})))Ax_{n}); \\ u_{n} = J_{1}^{-1}[(1 - \beta_{n})J_{1}w_{n} + \beta_{n}J_{1}(T(R_{\lambda}^{\partial F} \circ B_{\lambda}^{\nabla M}))w_{n}]; \\ C_{n+1} = \{v \in C_{n} : \phi(v, u_{n}) \leq \phi(v, x_{n})\}; \\ x_{n+1} = \Pi_{C_{n+1}}x_{1}; \ n \geq 1. \end{cases}$$

$$(4.2)$$

Assume that the conditions in (3.2) holds, then  $\{x_n\}$  converges strongly to an element in  $\Theta$ .

#### Acknowledgement:

The third and fourth authors acknowledge with thanks the bursary and financial support from Department of Science and Technology and National Research Foundation, Republic of South Africa Center of Excellence in Mathematical and Statistical Sciences (DST-NRF COE-MaSS) Postdoctoral Fellowship. Opinions expressed and conclusions arrived are those of the authors and are not necessarily to be attributed to the CoE-MaSS.

# References

- [1] H. A. Abass, F. U. Ogbuisi and O. T. Mewomo, Common solution of split equilibrium problem with no prior knowledge of operator norm, U. P. B Sci. Bull., Series A. 80(1) (2018) 175–190.
- [2] H. A. Abass, C. Izuchukwu, O. T. Mewomo and Q. L. Dong, Strong convergence of an inertial forward-backward splitting method for accretive operators in real Banach space, Fixed Point Theory, 21(2) (2020) 397–412.
- [3] H. A. Abass, K. O. Aremu, L. O. Jolaoso and O.T. Mewomo, An inertial forward-backward splitting method for approximating solutions of certain optimization problem, J. Nonlinear Funct. Anal. 2020 (2020), Article ID 6.
- [4] Y.I. Alber, Metric and Generalized Projection Operators in Banach Spaces: Properties and Applications in: Kartsatos, A.G (Ed). Theory and Applications of Nonlinear Operators and Accretive and Monotone Type, Lecture Notes in Pure and Applied Mathematics, Dekker, New York, 1996.
- [5] Y. I. Alber and S. Reich, An iterative method for solving a class of nonlinear operator equations in Banach spaces, Panamer. Math. J. 4(2) (1994) 39–54.
- [6] Y. Alber and L. Ryazantseva, Nonlinear ill-posed problems of monotone type, Springer, Dordrecht, 2006.
- [7] K. Aoyama and F. Koshaka, Strongly relatively nonexpansive sequences generated by firmly nonexpansive-like mappings, Fixed Point Theory Appl. 95 (2014) 13 pp.

- [8] K. Aoyama and F. Koshaka, Existence of fixed points of firmly nonexpansive-like mappings in Banach spaces, Fixed Point Theory Appl. (2010) Art. ID 512751, p. 15.
- [9] K. Avetisyan, O. Djordjevic and M. Pavlovic, *Littlewood-Paley inequalities in uniformly convex and uniformly smooth Banach spaces*, J. math. Anal. Appl. 336(1) (2007) 31–43.
- [10] V. Barbu, Nonlinear Semigroups and Differential Equations in Banach Spaces, Editura Academiei, R. S. R. Bucharest, 1976.
- [11] Y. Censor, A. Gibali and S. Reich, Algorithms for split variational inequality problem, Numer. Algor. 59 (2012) 301–323.
- [12] Y. Censor and T. Elfving, A multiprojection algorithm using Bregman projection in a product space, Numer. Algor., 8 (1994) 221–239.
- [13] Y. Censor, T. Elfving, N. Kopf and T. Bortfield, The multiple-sets split feasibilty problem and its applications for inverse problems, Inverse Prob. 21 (2005) 2071–2084.
- [14] Q. L. Dong, D. Jiang, P.Cholmjiak and Y. Shehu, A strong convergence result involving an inertial forward-backward splitting algorithm for monotone inclusions, J. Fixed Theory Appl. 19(4) (2017) 3097–3118.
- [15] B. Eicke, Iteration methods for convexly constrained ill-posed problems in Hilbert space, Numer. Funct. Anal. Optim. 13, (1992) 413–429.
- [16] H. W. Engl, M. Hanke and A. Neubauer, Regularization of Inverse Problems, Kluwer Academic Publishers Group, Dordrecht, 1996.
- [17] J. N. Ezeora and C. Izuchukwu, *Iterative approximation of solution of split variational inclusion problem*, Filomat, 32 (8) (2018) 2921–2932.
- [18] J. N. Ezeora, H. A. Abass and C. Izuchukwu, Strong convergence of an inertial-type algorithm to a common solution of minimization and fixed point problems, Math. Vesnik, 71(4) (2019) 338-350.
- [19] K. Geobel and W. A. Kirk, *Topics in Metric Fixed Point Theory*, Cambridge studies in Advanced Mathematics, Cambridge University Press, Cambridge, 1990.
- [20] G. Kassay, S. Reich and S. Sabach, Iterative methods for solving systems of variational inequalities in Reflexive Banach spaces, SIAM J. Optim. 21 (2011) 1319–1344.
- [21] F. Kohsaka and W. Takahashi, Existence and approximation of fixed points of firmly nonexpansive-type mappings in Banach spaces, SIAM J. Optim. 19(2) (2008) 824–835.
- [22] Z. Jouymandi and F. Moradlou, Retraction algorithms for solving variational inequalities, pseudomonotone equilibrium problems and fixed point problems in Banach spaces, Numer. Algor. 78 (2018) 1153–1182.
- [23] S. Kamimura and W. Takahashi, Strong convergence of a proximal-type algorithm in Banach space, SIAM J. Optim. 13 (2002) 938–945.
- [24] P. L. Lions and B. Mercier, Splitting algorithms for the sum of two nonlinear operators, SIAM J. Numer. Anal. 16 (1979) 964–979.
- [25] Z. Ma, L. Wang and S. S. Chen, On the split feasibility problem and fixed point problem of quasi-φ-nonexpansive in Banach spaces, Numer. Algor. (2018), https://doi.org/10.1007/s11075-018-0523-1.
- [26] S. Matsushita and W. Takahashi, A strong convergence theorem for relatively nonexpansive mappings in Banach spaces, J. Approx. Theor. 134 (2005) 257–266.
- [27] A.A. Mebawondu, C. Izuchukwu, K.O. Aremu and O.T. Mewomo, Some fixed point results for a generalized TAC-Suzuki-Berinde type F-contractions in b-metric spaces, Appl. Math. E-Notes 19 (2019) 629-653.
- [28] A.A. Mebawondu and O.T. Mewomo, Some fixed point results for TAC-Suzuki contractive mappings, Commun. Korean Math. Soc. 34(4) (2019) 1201-–1222.
- [29] A. A. Mebawondu and O.T. Mewomo, Some convergence results for Jungck-AM iterative process in hyperbolic spaces, Aust. J. Math. Anal. Appl. 16(1)(2019) 20.
- [30] A. A. Mebawondu and O.T. Mewomo, Suzuki-type fixed point results in  $G_b$ -metric spaces, Asian-Eur. J. Math. (2020) DOI: 10.1142/S1793557121500704.
- [31] A. Moudafi, Split monotone variational inclusions, J. Optim. Theory Appl. 150 (2011) 275–283.
- [32] A. Moudafi and B. S. Thakur, Solving proximal split feasibility problems without prior knowledge of operator norms, Optim. Letter, 8 (2014) 2099–2110.
- [33] F.U. Ogbuisi and C. Izuchukwu, Approximating a zero of sum of two monotone operators which solves a fixed point problem in reflexive Banach spaces, Numer. Funct. Anal. 41 (3) (2020) 322-343
- [34] D. H. Peaceman and H. H. Rashford, *The numerical solution of parabolic and elliptic differential equations*, J. Soc. Ind. Appl. Math. 3 (1995) 267–275.
- [35] J. Peypouquet, Convex optimization in Normed spaces. Theory, Methods and Examples, Springer Briefs in Optimization, Springer, 2015.
- [36] K. Promluang and P. Kuman, Viscosity approximation method for split common null point problems between

- Banach spaces and Hilbert spaces, J. Inform. Math. Sci. 9 (1) (2017) 27-44.
- [37] X. Qin, Y. J. Cho and S. M. Kang, Convergence theorems of common elements for equilibrium problem and fixed point problems in Banach spaces, J. Comput. Appl. Math. 225 (2009) 20–30.
- [38] R.T. Rockfellar, Monotone operators and the proximal point algorithm, SIAM J. Control Optim. 14 (1977) 877–808.
- [39] S. Reich and S. Sabach, Existence and approximation of fixed points of Bregman firmly nonexpansive mappings in reflexive Banach spaces, In: Fixed-Point Algorithms for inverse Problems in Science and Engineering, pp. 299-314. Springer, New York, 2010.
- [40] R. T. Rockafellar, On the maximality of sums of nonlinear monotone operators, Trans. Amer. Math. Soc. 149 (1970) 75–288.
- [41] Y. Shehu, Convergence results of forward-backward algorithms for sum of monotone operators in Banach spaces, Results Math. 74 (2019) 138.
- [42] Y. Shehu, Iterative approximation for zeros of sum of accretive operators in Banach spaces, J. Fuct. Spac. (2015), Article ID 5973468, 9 pages.
- [43] Y. Shehu, Iterative approximation method for finite family of relatively quasi-nonexpansive mapping and systems of equilibrium problem, J. Glob. Optim. (2014), DOI.10.1007/s10898-010-9619-4.
- [44] Y. Shehu and O. S. Iyiola, Convergence analysis for the proximal split feasibility using an inertial extrapolation term method, J. Fixed Point Theory Appl. 19 (2017) 2483–2510.
- [45] A. Taiwo, T. O. Alakoya and O. T. Mewomo, Halpern-type iterative process for solving split common fixed point and monotone variational inclusion between Banach spaces, Numer. Algor., (2020), Doi.org/10.007/s 11075-020-00737-2.
- [46] W. Takahashi, Nonlinear Functional Analysis, Fixed Theory Applications, Yokohama-Publishers, 2000.
- [47] P.T. Vuong, J. J. Stroduot and V. H. Nguyen, A gradient projection method for solving split equality and split feasibility problems in Hilbert space, Optim. 64 (2015) 2321–2341.
- [48] K. Wattanawitoon and P. Kuman, Strong convergence theorems by a new hybrid projection algorithm for fixed point problem and equilibrium problems of two relatively quasi-nonexpansive mappings, Nonlinear Anal. Hybrid Syst. 3 (2009) 11–20.
- [49] H. K. Xu, Inequalities in Banach spaces with applications, Nonlinear Anal. Theory Meth. Appl. 16 (1991) 1127–1138.
- [50] J. C. Yao, Variational inequalities with generalized monotone operators, Math. Oper. Res. 19 (1994) 691–705.
- [51] H. Zhang and L. Ceng, Projection splitting methods for sums of maximal monotone operators with applications,
   J. Math. Anal. Appl. 406 (2013) 323–334.
- [52] J. Zhang and N. Jiang, Hybrid algorithm for common solution of monotone inclusion problem and fixed point problem and applications to variational inequalities, Springer Plus, 5 (2016) 803.